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① Let Mi , rnz . . nkbepo.si/veint-cpew.sEe
d>0 the GCD f- micme. . . rnk. .

Show the.ve exists integer:S see / 42 . 71k -sit

D= Him ,-1712M2-1 . . UKMIC ( 10]

GCDdefn_ : If a ,b integers
→ If dla Ed / b

E → If c. la Gclb Ee old

then dis GCD of (arb)
D= laid

→-

→ Let 5=4
aim , -192M2-193m]

.
- . akmk /

9,92 , . . alcove integers
Ee

91mi-192M 2-1
. - akmk >0}

→ m , >o(given positive ntees)

so Mi = Mi .
It O.mz-10.mg-1.0.MK

>o ⇒ mi ES

→ Sindy nz>0 So MZES

Conclusion Sis Non - Empty



→ well oudaedprinsrple, there exists
so let it bed

sod C- S ⇒ D= Mibitmzbzt . . mkbk

for some integers bybz,
. - bk

Also d>0

Let mi-dq-rosvc.de
(DivisionMead

↳ If r-1-0 ⇒ r=m ,
-d- q

=M ,
- (miblmzbzt

.

mkbk) of
F- m ,(1-qbdtmzl-bzq-mzl-bzqt.im/4-bkq)
⇒ res

But red Eid is least
element so

F-0

⇒ m ,=dq ⇒ d / mi

Sinulog dlmz
d)m3

•

.

dlmk



Suppose clm , ,
c /mz , clms Ee CIMK

⇒ c / mibi-mzbz-msbst.im/cbk

⇒ cld

so dis GCD
of (M. ,m2 . . . MK)

BriefNote_:

→ In ALL TEXTBOOKS .
this question is present

for two numbers ,
in Chapter 1 as preliminary

reading part .

→ Most of the students
SKIP as it seems

Obvious .

→ This qn is extension
of two numbers . and

you will
not get solution in any book .

You

have to extend the theorem .

→ Abstract Algebra is ocean .

tItisbÉyvonANYGRADUATIONTEX-tB.COof your
state .

UPSC asks 1 or 2 KNOWN 9ns . If Such qn

appears , you
are Lucky .

Download Abstract Algebra FREE study
material

from successclap website .



succes.sc#Paper2-

⑤ Test Urefovm Convergence of

ñ+:÷÷y+I÷☒+ . .

Sucessclap : SC -1329 Uniform
Corvee On-49J

[QuestionBank series
Sn= nth partial sum = film)tfzn)t . . fnln)

→ +¥m+ . . ;÷¥=4:;÷÷¥
= it it - - '

som anchor Scu) =
Lt sin)={

It "
" n -1-0

n-700 0 2=0

Son Anchor scn) is
disorders at

n=O

c- CO,☐

the series is not
oneform caveat

on

co ☐



④ ⇐ a
monotonic in cab] .

prove f- is Riemann
integrable

'

in [a ,b]

Successclap Question
bank SC-1326 on 14

Monotony :
""

or °→f(
b)f :L

a.
1- bb

Given E>° p=[a=uo,u , ,nz
. .. Nvm ,Rnib]

↳ IFIE-eaw.SI?nakepartho~ such that
each subinterval length

is <¥+1a) - I
sr=Nr

-Ur- ' II

Increasing so Mr = +1m)
Mr -
- flier- 1) (obvious

flier .#"
"D wfp, f)= EMC

-MD Sv

= Etlnv) - far-D) Sr

Sv<f¥fla)-1 < fg-y.gg,- ,
SfC*v) -thr

-D)

Eflnr) -flnv-D=
Hb) -Had < foggy,a#

b) -Had]

W/AHLE So Rieman integrable

÷tT-iÉ¥ÉÉtD< E



④ c :[QD -3C become clt-eatitoc.to

[ to]Evaluate { zdz÷z+z

{
f- d2=fftDdZ

c.-121=1
222-521-2 c

f-(2)=¥Tz+z=Ézz-2) 22=52+2
22=42-21-2
2212-2) -1/2

-D

(22-1312-2)
2=1/2 lie inside 212-4211

flat -_¥¥
,

912)=É-D

{ ftddz-f.EE?-~d2=21TiglY2) 1-2-2=
-3/2

= ZITI 2¥23 2×-3/2=-3

=

i

Two times winding 41TiE_ ,
somultrply

by 2

£+12702 = -4¥



④ A dept of company has
5 employees

with 5 jobs to be performed . The
tone / in his

that each
man takes to perform each job

is given in
ecteclve matrix . Assign alljobs

to these five employees
to minimise the

total processing time
:

Employee

i.:|:÷÷÷÷÷-
c

10 7 2 2 2

¥€÷:] a.

And :
A-I

B- I

c.→ II

☐→ I

F- → II

value22

Source : S .
Chand OR : On - No 11 (Dogg)



⑧ to max /Min of
HN=k3_9h2-126N-24

in 01M£ I
[ 15]

f-(n) = a
}
- grit 26k -29

c-
'

(a)=3of- 18k-126

=3 [n'- 6N]
-126=3 [ n'-6×-19-9]

-126

=3 [@-3)I - I ¥
.=3 (n-3)2- I

f-
'Into ⇒ 3 In-35-1--0 G-3)

=z
cnhcalpt n=3 I ¥

Npoiti[0 ☐

f-
"(a) = 61N-3)

In co ☐ t
"

/n) so so Increasing

f-(o)= -24

f-(D= 1-91-26-24=-6

Min at n=o Ee value -24

Max at n=1 Ee value -6



④ Find Laurent f-(2) = 2¥=, yin power
of

(2+1) in 121-1173
[20J

DOU-bt.Isitcompolsavgtoresdue.it
partial tractor Ee expand

?

And :NO_ : expansion
at denominator

is

important .

F-✗ y.to?-nIEn-b5
✓

HH [ '⇒
"

(1+21-+1)"q+zj¥ same
as

A ' [1-an]
"

+ Bit 1+21-+1-9
-

Faf-ba]
1- Pill-2]

"

General exampleiBaka
we want in

2+1

ft→=Yz+D a- 2+1

q a>3
2=6- l

the =
u-13+27



=Ñ-3ut3_

a-Daisies)=¥}I)u⇒
=# *⇐ +÷

Uh- 3ut3 -

- Ala-2)(a-3) + Blu
-DCU-3)
1- Clu-Dla

-2)

Put u=l ⇒ 1=AtDl-2) A- 42 4
- 6

u=z⇒ 1=131171-7 D= - l
+3

3= c. (2) (1) c-3/2 g

a- 3 ⇒ 7,

flu)= 1¥, - u÷z -1£ ÷,

Tov a>3 ⇒ I> Ice > ÷ Lull

the ;÷µ⇒ - II.⇒
+ Eua:)

1>1-7? > I ⇒ ÷< 1 , ¥21 f- Cl

ftp.zi-ut-1-a)
"
- :-( 1-⇒

"

+ Elisa)
"

/ c- 'a)
"

=ltIe+ Est . .



C-⇒
"

= It I +It :-, t . .

{ C-⇒"= It? +÷,+ ¥ + . .

flu) = Ice + Feet East Jeet
. . .

- Ee - Iz - Iz - ÷, +
. .

27

Eat ÷ + 2¥ + °÷, + " ¥

= If I -1 +E) + at/ ÷ -21¥)*
+ Is /E- a

+E) +¥ /E- 8-1 :'-)

= at + ÷ + + ?_? + " z¥-
*

c-127=5+1 ¥+52 t¥jt¥¢t
- - % ¥

¥-1



③ Let f be
entire function with Taylor series

expansion
with centre 2=0 has infretly many

terms . Show 2=0 is essential singularityof

C-(E) [153

-

Taylor series expansion of f-(2)
at 2=9 is

f-(2) =§ an /2-a)
^

an =fn^¥
n=O

at 2=0 → f- (2) = § an2
"

n=0

= ao
-19,2+9222+932

>
+ . .

f-(E) = ao-1¥ +a÷ +÷

Clearly 2=0 is
essential singular far C- (E)

as it
contains inhale

number of terms

with negate power
of 2

As perqn.tt#yexpa-tron
.

If you have any
other explanation ,

letme

know .



③ Find stating values of n45+z2s.tanh-byl-czk-lqlntmytnz-o.gg
Interpret geometrically

SuccessClapQueshon_BdcSC-B07@nlcen4y4z2s.t
ari-by-tci-IGlntmytnz-odu-2ndntlydy-22dzzandu-2.toydg -12042=0

ldntmdytndz.-0

Multiply 1, X , ✗2

(dntydytzd
2) +Xilandntbydytczdz

)
+ Xzlldutndytndz)=o

I }mokpkbyniqzoaaddgy-bxiy-mxi-ofi-5-zy-xilan4-by.tod) talentmytnD=o

Ui -17,11) told
-0 ⇒ Uta -0 ✗1=-4

n-area -11×2=0 ⇒ m=#
ace- l

y -byu-1m
✗2=0 ⇒ y=¥¥, } put water

2- czu+nXz=0 ⇒ z=2÷,

÷,
+ II. +÷ ,

-0 gives
maxlminotu



③ Convert LPP to dual LPP

Minimize 2=21-342-243

5.t 374-N2t2N3 £7 Minato
2h1 -442212

Uzis unrestricted
-4N , -13921-893=10

(
15]

Multiply Eq① by -1 ⇒ -zuitnz
-2ns? -7

Ear 3 → = '→ > Gs

-44 -1342 -18ns
-710

( -441 -13ha-18ns
£10 ⇒ 4N ,

-3212-8937-10

↳ = as
'
-us
" s.tn} ,nz"7o

Min2=24 -3h2
- 2h3

'
-12ns

"

S.t-3UI-nz-2.US -1243
"

3 -7

2mi -4h27 / 2

-4N -13212-18731-893
"
> 10

AM -342-8ns
' -18ns"? -10

Mythili ,
Ms
"
70

Its Dual

Max W=
-791-11242-1043-1104¢

S -t -34 ,
-1242-1443-444£

/

41-442-343+344E -3
-241-1042-843-1849£

-2

241+0421-843-844<-2 41,42/434970



43-44=41

Max w= -741-11242-+104,

sit -341+242+441<-1
41-442-34, C- -3

-2411-84, = -2
4114270

u , is
unrestricted



④ show there are infinitely many
subgroups of additvegvoup

Q of rational

numbers (5)

consider set of
rational numbers

of farm

yp where
pis prime so

'12,113,45 , 't

Now consider any
subset of these

. Using these

as generators
we can

farm a corresponding

additive subgroups
.
So if for example

we choose

42 Ee 113 ,
we will have

a subgroup that
include

{ 4214s , Yet
43 . ItIt's } etc

as members.

So every subset
of{ Yp } generates a

corresponding subgroups . As {Ypf
is

countably infinite ,
it has an

uncountable

number of
subsets .

Now we
have to do is prove that

the

subgroups they
generate are

all different .

If some subgroup generated by
a

subset of fyz , Ys , Ys, Ys , Yn
. . } has the

property that
some element e

has the

property that p*e
=L
,
then Yp must be



an element of subgroup. So if we compare

two subgroups , they can only be isomorphic
if they are generated by

the same

subset of { 42.43.115 . . } and deferent

choices of subset well generate
deftevent

addetre subgroups .

As there is
an uncountable number

of

addehe subgroups
farmed inthis

manner
,

all uvpue , there
mustbe

uneatable

number of them .

Syce: Quora



④ use contour integrator , evaluate

•

¥¥+a,
a>0 [203

Successclap : Question bank SC-HOJ
On55

Consider { +14=1 ¥÷+-ayd2-÷A÷
simple poles

2=0 lie
outside

2-ai lie inside

z= -ai
lie outside

Residue (z=ai)= Lt ②ADHD =z¥ai§÷+a,
z→ai

÷÷.
Residuethm R

-r

{1- (2) dz= ZITI
ERT =/ tf tf tf

r r - R Y

JWdalemna-i.LI, { 1-12722--0

¥0 21-12)=¥,a¥÷a, -- tae



⇒ ¥,of
,

Hilda = i ^ Ido-A)= _^÷,

no
,
R→ a ⇒

f°fCn)dn+ / flnldu - ^÷= 21T i f-éz÷)
-
:

o
o

f flu)du = i÷ (c-e-a)
-a

Imaeiroy part eevalet: ÷÷+a§n=÷a - e-a)



④ solve by Bigm
Maximize 2=4

'Re-157kt 2h3

Sit 2Mt nztuz
? 10

[15]
Nc -1326+213<-12

ki-R2tU3=6

Maximize 2=4Ui-5Nz
-12ns -105 ,-1052

-MA , -MAZ

S.tzni-nz-uz-si-osz.tn
At -10^-2=10

711-73712-1431-05,-152-10-11
-101-2--12

Nitrlztnz
-1051-1052-10A ,

-14-2=6

Hi Nznzsisz
Al Azzo

S , is surplus
variable Szisslackuanabie

IBFS u ,=U2=
43=51--0

1-1=10 1-2--652=12

CB Basis
Nl Nz Nz

Si Sz
Ai Az

b O

-M Al ☒ l l
- l 0

I o lo 5 →

6

0 S2 1

,

3

,

1

,

O l 0 O l}
12

00
0 1÷:*::÷:

G=G÷tMtMt



Cj

÷÷i÷÷t.0 1/2 112 1/2 0 I÷.li#:::.:.:.-::.:::::c,--G-ZO3-M=M-z2tM-z0 0

:÷÷÷É:_::f¥÷÷:
2)=EcBai,

4=4-2;
0 0 -3

-1

optimal BFFS
Nl=4 92=2 Asano

Max
2=26



sectonB-successclap-UPSC20215aobta.esPDE by eliminate
C- , from

fluty+2 , right
24=0 [ 103

successclapeuestrabcnksc-I-OIQrf-se.ve
rat methods to solve

→ use direct
formula to solve

such

FORMULAproblems

For flu , v7
-0 → Its PDE is PptQq=R

ftp.3.Y?,o=:Y.1,r--;J---::U--ntyt2V=rf-y4-z2p--
1%3*1--4, H

=
"" / saris39%-2

•=/¥2 In / =/ Izz {a)
=
zu-22

PptQq=R

⇐ In
" 1¥ ¥/ =/ in :/=zu-mPHmÑ=y¥n¥



⑤ Find positvevoot of 3n=lt6sa with

initial values 0,142
. Ee improve result by

Newton -Raphson
correct to 8 significant

co]
figures

flu)= 3h- 1-Cosa

↳Given two
initial values (9^-12) → use

Bisection method

kz=No-¥
' flap

No NI

o Hz 1T¢ > o

o Ha Hoo <0

A-18 Ha
3^-116 so

3¥, HG
0-68722

70

31^-6-0-687
0-638136 70

Sdn is 0.6381

Newton Raphsor
flu) =

3-lsinu-n-i-m-E.in?--m-3-IEINo--
0.60

Nc =
0.60701

Me-0.60710



⇐c) (1) Convert (3798.2-875) ☐ to octal Ee

hexadecimal eeuivalerts

Obtain principal conjuncture
normal ton

of (710-712)^(0--12)

(1) 83£98 0.1×8=0.8 0 ?⃝:÷::÷:81474 6
0.8×8 = 6.4 6

• LET
7326

3063

(3798.3%75) lo E (7326.306378
-

He÷3fg8 0.3875×16=6.2 6

0.2×16=3^2 3 /4237-6↳
↳ -D

0.2×16 = 3.2 3
0

633

KEE

(3298-3875),oE( F- ☐6.633716



I obtain principal conjunctive
normal

farm of @ P→ R ) NQ=P) co]

A → B I
~AUB

AIB = @ AV B)
n /AvnB)

( (~DVR)
n (~QVP) n lo

UND

CPVR) n (
PVNQ) n /NPVQ)

@VRV@ n~Q)]n
[PVNQV /

Rn -RD

^[~PvQv[Rn~R]]
add onNQ

will not chose expression

@VRVQ) n(
PURVNQ)n(PVNRVR

)

n I PVNQVNR)n(
NPVQVR) n

CNPVQVNRJ
AvlBnc)= AfvB) n(Avg De-Morgan

PCRUQ) n(Pure
V -R) n ( Pv ~@UR) A

@pv@UR)n(~PUOV~R) ANA--A

@ VQUR) n(
PU NOUR)nlPV~QU~R)r
(NPUOUR) nC~PUOV~R)

This is principal Cajogctve
naval fame



⑤ A particle is constrained to
move along a

circle lying in
vertical ny -plane . Using

D- Alembert
show equator of

motion is

iii. y - ign
-gu-0 g is gravity [

to]

Particle massmnoue
in

circle rodeos r
in ✗4 place

.
0 is centre

!
b Ñt5=Ñ Wang

znsn-12489=0
⇒ 8u= -4,8g

D-Alemb (F-mi)8v=o

↳ component farm

(Fn-mii sniffy
-mysy=o
)

tu

Fn=o Fy=
- ng -mi Sn - Fmg-1mi)fy=o

mc-iiy-ix-gusn-ojiy-y.se-ga-0



5① what arrangements of source G sinks

can have velocity potential w=loge(
2-¥) ?

Draw sketch of streamlines
E prove

that

two of them subdivide into
Cercle r=a G

co]
axis oty .

successclapeuestonbanksc-MOGQ~110w-logfz-a-f.bg/&-a-2taJ
= log@-a) 1- log(2+9)-1092

2-ntiy

= log Ku-a) + iy) -110g/feta)
+ iy) - loglntiy)

= Ceti -1 logldtip-1-zlogld-PY-itai.bzImaeioypat
4- tai#+ tai'÷a -ti't

= ton
" Itta)
verity
'
-a)

streamline e- castor ⇒ uY¥÷¥→=c
C-0 ⇒ y=o ⇒ x-axis is

streamline

c.→ an ⇒ Yep-a) a -0

I



to

⇒ x=o

q n45=a
' / r=a streamline

÷¥¥¥;t¥÷⇐



@a) solve waveeqn aLd÷g=2÷g, Osuchto
sit u(0,67=0 cell ,t)=O

almo)= :-< sell
-D ¥|⇐É°

[203

waveeen
a-%-w= 3%-2

↳ Sdn is ufn ,t)=E

Bnsinntn-asnt-att-oizall-n-EBnsinnn-LBn-zft.iqall- a) sinn du

= { In
-risinnñndre

fenny _•¥÷} -Kai }
-44 :¥÷}1i

= [ _÷ku-ñca^
+¥+1m)ñnmI

-2¥.com#1lo
'



=l÷Hi-iañ+¥ad←⇒snñ
-¥⇒•ñ- lo -¥→↳§]

= [ 3¥,-2¥,↳ñ]
añ=t5

=n¥Ii - c-DI
nisodd CD? -1

BE } only forodd value
exist

nis Even C-DIO Bn=o

m-ys.in#imI-Gnn--acuCn,t)=2Y--gE



④ obtain Boolean Fm Fluid .

simplify a draw
GATE network (5)

I???"?\
I 1 O

l

l O
l

l

1 O O
O

O l l
loioo o

l
0

0 00
0

FIN /4,2) = nyz -1 nyz
'
-1 sea

'
2 1- N'yz

=My (2-121) + my'z+U'y2

=my f- my'ztÑy2

= rely-14
'

2) +n'yz
1-1- A-B-- At B)

= rely -12) + n'yz

= Nyt Nz -1
n'yz

=ny + Zlata
'y)

= my +duty)

=My +N2-142



WE :

m2 yz
sey

✗ U Z

FF¥=É÷±⇒ *

Nytn21-42



⑥ Obtain Lagrange for two particles
of

ungual masses connected by inextensible

string passing through small smooth
pokey

(5)
Video Soh is present in Mechanics

[
course of successclap .

Checkout in successclap Youtube
videos

+ Note given small
smooth pulley , so pulley

related mass ,
Moment of Inertia can be

ignored ( Not given frfr

:p -1
→ Lengthof string
↳ Art nty /
i=ñ+i=o ⇒ ñ=-j + | "

☒
t

Tmi -- In ,
Ñ Tmi Emigh

Vmi
.

= -mgn Vmz= -mgg

' T.mi-TML-1-zm.ie?ti-zmzii 4- =- ie



=

tz@itmDsi2L-AvtntyV.r
Um , -1 Vmi -Mlgn

- m 29g y=L-tr
-k

= -mign-mzgl-megtr-mi.gr

=@2-mDgn - neg Ltmigtv

L=T-V

=I(m+mDñ -@2-migntmzgl
-might

?÷= Kamini ÷e=
-1mi-mDg

teen ¥1:÷)→÷=o

Cnitmrii =@a-mpg

ñ=m÷¥÷



⑦ Find General Soh
of

④2- D
' 2-3D -13D) 2= neg tent

↳

( is]

successclapouestonbank.SC-IO40n4.TN
☐2- D

'2-3D 1-D
'

= ④+D) (D
-D) - 3(D-D)

+D
'

-3) (D- D)

(D-D) (
DTD

'
-B)zany +

eatZy

↳ CF = Q,Cutie *
e
" edu-a)

PI ' 9=-5,11 -¥1T,-D¥j
my

=

☐
( It 1¥ 1-¥t)( It☐j +21¥ +Jug

=

☐( 1+1-+113 +¥ +1%+2%1 + Day

= -÷, /my -143-+2^-3
+f- " +5)

= -51m¥ +¥ t¥t?- 1-%-)



emf -24
° =

☐
'⇒ (p-☐yentas=

5-34-9

=
-1- entzy

=
-é"¥÷iDTD

'

-3

= -
ett"¥☐i '

= -e

"" ( it Y

= -e"t4☐- ( it
. .) I = -seen

+27

2- CF -1 PI



④ Use Gauss Seeded Solve

3Mt9Rz-2U3=ll

4kt -122k-11343=24

4kt -2UztUz= -8 (5)

Reawaee

are,- 2U2+n3=
-8 { diagonal termzoe , -19m-2lb -41 high

4mi -1242-113713=24

NY"= :-< 1-8 -12nF-us
")

Nrl" '=§( 11-3nF
"

-12USD

set"=§(24 -4nF
"-2nF")

Ite se ,
U2 N3

O O
O

Initial
-2 1.8888 2.17094

1

2 -1.59829 2.2374
1.993717

3 -1.37972 2.12517
1.99373

9 -1.4233 2.1286 1.9566

J -1.9298 2.13197 1.95657

6 -1.4231 2.1319 1.9561



④ show q=X¥-I) @ =cast) is possible

incompressible fluid motion .

Determine streamlines.

Is kind of motion potential ? If yes , find

velocity potential .

÷÷÷÷÷÷÷÷÷¥=.
Eqn of continuity ¥ut¥yt¥z=0

⇒ ¥=2¥÷yz÷=¥÷,-3%-0
⇒ Guhuity Egr

is satisfied ¥ut¥yt¥=o
⇒ Possible

motor

streamline -d⇒ñ+ye=%_n_+yE%
⇒ ⇐⇒ z=c , duty -_d÷

⇒ n45=cz

streamline eens
2- Ci

n4_yIC2



in i ñ

☐xq= / Ign 3-43-2
:÷.
:÷e|=Y¥÷.
÷i

Flow is potential
kind =o

q= -09

¥n=-a=¥÷
¥g=-v= -2¥,

2¥ -0

do = dn -12£ du -129-2=0
⇒ I "÷÷¥)= ✗dinky

a- ✗taring
Equipotential A- casket

⇒ g-=c ⇒ sexy

+00¥



⑧Derive Newton backward deference

interpolator formula E
also do error analysis

(5)
Note:

① Plz see the
checklist of all

Derivations

and Ewov Anomaly is given
in successclap

website for
Numerical Analysis

②successclapdueshaB.ae#-LO20r2xfaath-a-nnf(X)fla)flath-fa
Let flu)= Ao -1A ,

In-a-nh) +AIR
-a-nh)(npig

+Asla-a-nh) (n
-a-In-Dh) (n-aln-Dn)

1- . . Anta- a-nh) (n-a-ln-DN.ir/n-a-n)

Ao , A , Az
. - An cast

→
n=atnh ⇒ flatnh)=Ao

→ n=at(n
- 1)h ⇒ flat

- 1)b) = Ao+ A ,[a+GtDh-a-nd

= Ao- A ,
h

Ai h = Ao-flatCntDh)
= flatnh) - flat✗

- 1)b)



= ☐Hathi

Ai=THD
→ n=at C-2) h

flat D= Ao -1A i[at@2)
h-a-nh]

1-Azcatk-zh-a-nhxate-bh-a-cn-DD.to-1A , C-2h) -1Azflh)th)

Az2h~= flat h) - Ao-12A ,h

= flatly)h) - flat rn) -120ft
atnh)

= flatfish] -flatnn) -124
flat nh)
-Hain-4h]

= {flat# h - flat@ Dh]} -

{ Hate
- 17h} - flat nn)}

=P flat d-Dh] -Of/atnh)

= 741amD

Az=ñ¥÷?D
sinday A>=

h) An=0FD
tin :



Also → Let u=n-l÷nD

⇒ a-a- G-1)h= uh
-1h =@+1) he

n-a-h-fatnh-ceh-a-h-u.tn
-Dh

fCN=Hatnh) + (a-a-nDPY.at?-DtC-a-nn)ln-acn-Dh5tL?--nID
+ (a-a-

nhjcn-aln-DD.cu-a-DYI-ln.at?D
→ put in a

→ format

flat nhtuh-flatntD-upflatntD-celu-D-iflatnht.ua#;I-Do4-land
Reminder term Rn

Rn=uketD . .@+n{nÑ : +
"to)

since the) cannot beexpressed U=n→÷
as C-
"'

107 Rn=Ñ+¥Y ului-Dlul-D.lu/-n)



⑧ show that complex potential toiz , the

streamlines and eeuipotential curves are circles .

Find velocity at any ptq check singularitiesat

2- Ii
[203

w-taiz-ce-ilw-toiz-a.it ]
subtract zit-taiz-toiz-toiz-a.INT

iy11-25
E-n-iy

= tan
"

zit
ltrityl

ten2it-2iyltri-qLNY-yh.tl=2yath2-1

streamlines + =
constant Let -1

:c ,

Egn n'+ y-1-1=29
6th 2C ,

-

n'+F- 246th 2C - I → circle



Similarly wtw= 29
-

- toizttaii

= toi
'

II
1-ZI

2-ntiy
=tainIy) 2-=n-iy

take =Y÷[+ if
1- (n'+44=2

not 29

Eeuipotertal a-
castat Let a-

Cz

Eeqn 1-1449--2=+24
n'tie i-2ncd-2.cz

→ circle

velocity q=d÷z =¥z,
w=toi'z

Denominator 1+22 vanish at
2=1 I

↳ singularity at z=±i




	main page 1
	1b P2
	2021-P2-8b-SuccessClap

